Answers to Selected Problems

Chapter 2: 

2.1(a) Current assets: $580,000

           Current liabilities = $230,000

           Working capital = $350,000

           Shareholders’ equity = $470,000

(b) EPS = $50 per share

(c) Market price = $30 per share

2.3 Note: “Other expenses” in the Income Statement Summary should be $71,954, instead of $31,954 in the 1st printing.

(a) Debt ratio = 10.84%

(b) Time-interest-earned ratio = undefined

(c) Current ratio = 6.79

(d) Quick ratio = 6.79

(e) Inventory turnover ratio = undefined

(f) DSO = 84.03 days

(g) Total assets turnover ratio = 0.2 times

(h) Profit margin on sales = -8.8%

(i) Return on total assets = -3.28%

(j) Return on common equity = -3.81%

(k) Price-earning ratio = -566.70

(l) Book value per share = $1.21 (The number of outstanding shares used = 378,644,000)

